KIALBTEFEATEYEE A,

X Rubber feet dimensions are not included.

¥ERLINZ / Components

No. FF / Part name = / Pcs #E / Material £ - R ELE / Color-Finish
1 ISR 2 7 JLSHR A1050P AUYIyIN - REBE-RERLE T 797 MI4b
Panel Aluminium A1050P Metallic Silver-Painted (Unfinished inside),Black anodized
2 E—r 2 PhN— 1 7L A6063S-T5 MiyIyLN - REEE-NEROLIE 7 I9T AL
Heat-sink top cover Extruded aluminium A6063S-T5 Metallic Silver+Painted (Unfinished inside),Black anodized
3 THhi— 1 T ILSHRH A A6063S-TS I - RE B E-NEELE 7 79T LI4b
Bottom frame Extruded aluminium A6063S-T5 Metallic Silver+Painted (Unfinished inside),Black anodized
4 I500T Sk 2 T ILSHRH A A6063S-T5 M IYNN = B T 99T
Flange bracket Extruded aluminium A6063S-T5 Metallic Silver+Painted ,Black anodized
5 ERHE RGRA 7T M5 X 10) 8 ATULR PR
Screw ( Hexagonal M5-10 ) Stainless steel Unfinished
6 TS5 CEFE X / Flange screw 4 £% / Steel =24 0OA—}F / Black trivalent chromate
7 IS5 EtF vk / Flange nut 4 # / Steel ={mE4-OA—F / Black trivalent chromate
8 £3AT L2 / Rubber feet 4 $1)ara s / Silicone 7597 / Black

AHESIMMIH I 2HREOEFEGHRRSAHINFBHTEC)FEUEI . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

4 /Title
BARHINTBHIR ISUTRME—II L IT LS —R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. FLANGED HEAT-SINK ALUMINIUM ENCLOSURE RE/Scale
BiER (BUERED) / Color type #GE/Approved | {RE]/Checked B /Created | £!%/Product number o
50+ / Code ETH/N\— / Cover 7522 TS54 vk / Flange bracket 8% )L / Panel . EXHF23-8-21101 ’
SS 2 )L1N— / Silver 2 )LiN— / Silver < )LsN— / Silver PR KT = 1/ 6
BB 75974 / Black 75v% / Black F5w4 / Black {ERL B /Date 2022/11/30




B-B(1:4)

81.75

270

265

25

EATLE
Rubber feet

4-M5F M7}

4-M5Countersunk

232
D B
|8 1
A A
=] JB
D B
_11.75
|
< <
ot
175
E(1:2) .
detail E M3FFk |l |
M3 nut 207
145
‘ 3\\\ ~ 215
&% 5 L 224
- 230
175 | 215 |7 -
' Rl Li~yR M3 % 6
46 Screw M3-6

46

e B /Date

2019/04/03

P ) G—q—w
C-C(1:4) D-D(1:4)
mf/Title
TAKACHI| #ARHIHFERTE 9598 B FE— AT LSS —R O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. FLANGED HEAT-SINK ALUMINIUM ENCLOSURE }_#

AR/ Approved 1% X]/Checked #[X/Created & /Product number RIE/Scale

EXHF23-8-21000] 14

iR KiL & ) /6




E—ki2% / Heat—sink top cover

207

4-M5

, 230

, 218 ,

|
Y p— ©l g
_ —4 N

s 3
9.8 181.4 9.8
191
222.5

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
E—k 2 HhN—

Heat-sink top cover

S
O

& &8/ Approved

iR

#&[X/Checked

XL

#[X/Created

§

& /Product number

W230-D207

RE/Scale
1:3

{ERL B /Date 2022/08/05




TH/\— / Bottom frame

1.8 222.5
215 ,
|
)
0
™
224 10 J 5
0
4-M5 N
187
201.5
115 207 115
218
230
~
o
N

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
THhiN—

Bottom frame

S
O

AR/ Approved

iR

#&[X/Checked

XL

#[X/Created

§

& /Product number

W230-H75-D207

RE/Scale
1:3

{ERL B /Date 2019/04/03




/Nl / Panel

G-G(1:2)

Z X

E#h~ti% / Max dim. 59.85

F-F(1:2)

\N——a |

_»3 o 218 -
| |
I ©\ [0
1
Ay N
™~ ©
G G
R R
" /&:y é}’ 1
#~T3& / Max dim. 215 ~r F
4_M5ﬁqm17'-|\ / ;ﬁ)‘)] / ax dim
4—-M5 Countersunk B 232 N
(0 O)
N\ N\

| No—

J-J(1:2)
H-H(1:2)
=— H
J
7\ 7\ ¢ ]
A&7 A2 /
< H
(N )
O O
Nl &
4/ Title
TAKACHI] #attshFBRIE ReSy O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
& &8/ Approved & /Checked #1[X]/Created #IF /Product number RI&/Scale
W232-H77 1:2
iR KiL A 5 6
{ER{ B /Date 2023/02/14




1175 __/
y T |
oo (o)
1 ~ ° i
L0 L0
© o
o N~
AN ~—
To)
<
o=
;1 O\ 9?
6-C2 — 40 — 2—23.2
1292 16.8
D T o (o]
LO" ——ﬂ—’\i
I 1
L0 ‘\!‘ L0
N — -
31.6 144

o

17.9

@S ° o=
@? o (g
mg*’t k EATLE
nu Rubber feet
25N =y
A1) Ls~yK M3 %6
Screw M3-6
——"—
4 /Title f\ |/|
TAKACHI| #XE#HshTFEMT % 95,5 T Sy O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
& &8/ Approved & /Checked #1[X]/Created B F /Product number RI&/Scale
EXHF23-O-21 1:2
iR KT 2 s 6
YERL B /Date 2019/04/03




	シートとビュー
	EXHF23-8-21-モデル
	2
	3
	4
	5
	6


